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Explain how we can construct DFA from NFA in detail.
Define Regukir grammar with examFles.

Or
Show that L = {ei li / i > = 1} is not. regular_
Explairi pumping Lemma with any usage.,

Explain the equivalenee of LBA and,CSG.
Prove that {aPlP is prime} is nnt context free.

'OrExpiaia*ariou"*1o"u*".p"o rtiasafCF:j$.' t ' . ,'
Construr--t a turing machrne that,arreFi.g iar:g;age L - {u.= lta':: i- i''' are equai to the number *i &'si.

c$rpTcs 2K 4o3_Tr{EORy oF, coMpuT.
Time : Three Hours

:

Answer all questions.
.4ssurne suitable data that are not giuen.

I. (a) Define countable, uncountable sets and regular expression.
(b) Define : Homomorphis6 suls1i1u1iea.
(c) Outlined CyI( algorithm.
(d) Give CFG, accepting the following languages :

(t (0 + l)*
(ii) (0 + l)" l0l (0 + l)*
(lii) String of 0,s and l,s length at most B-

(e) Define undecidability with related features.
(0 Define Np set of problems.
(g) Symbolise the statement in predicate calculus

A is the father of the mother of y.
(h) s.T.

(r)(P(r) -+ e(r)A(r)e(r) + R(r))
=+ (rXp(r) + R(r))
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Compare recursive and recursively enumerable languages.

Use reduction to prove that the following problem about turing machine is unsolvable.
Given a turing machine M, does M halt on the empty tape ?

Explcin post conespondence problen in detail.

(7 marks)
(8 marks)

If L is recursively enumerable, then there exists on unrestrained grammar. G such that
L = L(G).

(ii) Convert to disjunctive normal form (A v B) n (C n D) .

(7 ma#)
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[4 x 15 = 60 marksJ

Explain various normal forms with examples.

Discuss fmyslling salesmen problem in detail.

Or

Find the pnenex formula for 3r - (Vy Pryz >Su Q xu)
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